
6678 6678.5 6679 6679.5 6680
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

2.5

3

3.5

4

4.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6626

6626.5

6627

6627.5

6628

6628.5

6629

6629.5

6630

ru
n

run:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6628}



6678 6678.5 6679 6679.5 6680
cyclenum

181.5−

181−

180.5−

180−

179.5−us
l_

1X

usl_1X:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

23.6

23.8

24

24.2

24.4

24.6

24.8

25

25.2

25.4

25.6

25.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

131.2

131.4

131.6

131.8

132

132.2

132.4

132.6

132.8

133

133.2

133.4

us
l_

4e
X

usl_4eX:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

9.5

10

10.5

11

11.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

64−

63.5−

63−

62.5−

62−us
l_

12
X

usl_12X:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6626

6626.5

6627

6627.5

6628

6628.5

6629

6629.5

6630

ru
n

run:cyclenum {run == 6628}



6678 6678.5 6679 6679.5 6680
cyclenum

184.8−

184.6−

184.4−

184.2−

184−

183.8−

183.6−

183.4−

183.2−

183−

182.8−

182.6−

us
r_

1X

usr_1X:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

24

24.5

25

25.5

26

us
r_

4a
Y

usr_4aY:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

253.6

253.8

254

254.2

254.4

254.6

254.8

255

255.2

255.4

255.6

255.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

53.8−

53.6−

53.4−

53.2−

53−

52.8−

52.6−

52.4−

52.2−

52−

51.8−

51.6−

us
r_

12
X

usr_12X:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6626

6626.5

6627

6627.5

6628

6628.5

6629

6629.5

6630

ru
n

run:cyclenum {run == 6628}



6678 6678.5 6679 6679.5 6680
cyclenum

30119

30119.2

30119.4

30119.6

30119.8

30120

30120.2

30120.4

30120.6

30120.8

30121

30121.2

us
l_

co
il1

usl_coil1:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6318.5

6319

6319.5

6320

6320.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6876

6876.5

6877

6877.5

6878

us
l_

co
il4

usl_coil4:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

1231−

1230.5−

1230−

1229.5−

1229−

us
l_

co
il6

usl_coil6:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

25408

25408.5

25409

25409.5

25410

us
l_

co
il7

usl_coil7:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6626

6626.5

6627

6627.5

6628

6628.5

6629

6629.5

6630

ru
n

run:cyclenum {run == 6628}



6678 6678.5 6679 6679.5 6680
cyclenum

27107.5−

27107−

27106.5−

27106−

27105.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

5436−

5435.5−

5435−

5434.5−

5434−

us
r_

co
il3

usr_coil3:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

5325

5325.2

5325.4

5325.6

5325.8

5326

5326.2

5326.4

5326.6

5326.8

5327

5327.2

us
r_

co
il4

usr_coil4:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

791−

790.5−

790−

789.5−

789−

us
r_

co
il6

usr_coil6:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

23713.6

23713.8

23714

23714.2

23714.4

23714.6

23714.8

23715

23715.2

23715.4

23715.6

23715.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6626

6626.5

6627

6627.5

6628

6628.5

6629

6629.5

6630

ru
n

run:cyclenum {run == 6628}



6678 6678.5 6679 6679.5 6680
cyclenum

419.5−

419−

418.5−

418−

417.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

71.5−

71−

70.5−

70−

69.5−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

19

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

459.5−

459−

458.5−

458−

457.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

91.5−

91−

90.5−

90−

89.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

20

20.5

21

21.5

22

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6628}



6678 6678.5 6679 6679.5 6680
cyclenum

177.6

177.8

178

178.2

178.4

178.6

178.8

179

179.2

179.4

179.6

179.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

41

41.5

42

42.5

43

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

12.5−

12−

11.5−

11−

10.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

188

188.5

189

189.5

190

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

19.5−

19−

18.5−

18−

17.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

10.5−

10−

9.5−

9−

8.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6628}



6678 6678.5 6679 6679.5 6680
cyclenum

240.8−

240.6−

240.4−

240.2−

240−

239.8−

239.6−

239.4−

239.2−

239−

238.8−

238.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

87.8−

87.6−

87.4−

87.2−

87−

86.8−

86.6−

86.4−

86.2−

86−

85.8−

85.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6−

5.5−

5−

4.5−

4−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

8

8.5

9

9.5

10

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

425.5−

425−

424.5−

424−

423.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6628}

6678 6678.5 6679 6679.5 6680
cyclenum

6626

6626.5

6627

6627.5

6628

6628.5

6629

6629.5

6630

ru
n

run:cyclenum {run == 6628}
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